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Closed Book Quiz.  You have exactly 20 minutes. 
1. Give output for each of the following codes in the space provided:
public class StringTest {



public static void main(String[] args)
{



String exam = "KFUPM is in Dhahran";


int n = exam.indexOf(" ");

    int a = 7, b = 4;


System.out.println(exam.substring(2,n));



System.out.println(exam.indexOf("h"));



exam = ""+ exam.charAt(3) + a + b;



System.out.println(exam);


System.out.println(exam.equals("exam"));


}
}
Output:

import java.util.Scanner;

public class ScannerTest

{

  public static void main(String[] args)

  {

    int x1;

    String s1, s2, password;

    Scanner keyboard = new Scanner(System.in);

    System.out.println("Enter your first name, age, ID#: ");

    s1 = keyboard.next();

    x1 = keyboard.nextInt();

    s2 = keyboard.next();

    password = s1.substring(0, 2) + (x1 % 7) + s2.charAt(3);

    System.out.println("Your password is: " + password);

  }

}

Assume that the user types: Karim   17   281730
Output:


boolean first  = 3 * 6 / 9 == 10 / 2 – 3;



boolean second = 8.0 / 2 – 2 > 2 / 2 + 1.0 ;



boolean third = first && !second && true;
Output:

first        = 




second   = 




third       = 




2. A sales person is paid a commission as shown by the following table. Write a java program that reads the sales of a sales person, and then computes and outputs his commission.
	Sales
	%Commission

	0 <= sales < 6000
	0%

	6000 <=  sales <  20000
	2%

	20000 <= sales <  40000
	3%

	40000 <= sales < 60000
	5%

	sales >= 60000
	10%


The format of your input and output must look like the following

Input:

   
Enter the sales: 20000

Output:


The commission paid is 400
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